

Pravidla pro "malé \bar{o} ": $(x \rightarrow 0)$

$$1. \begin{array}{l} f(x) = o(x^m) \\ g(x) = o(x^m) \end{array} \quad m \geq n \quad \Rightarrow \quad f(x) + g(x) = o(x^n)$$

$$2. \begin{array}{l} f(x) = o(x^m) \\ g(x) = o(x^m) \end{array} \quad \Rightarrow \quad f(x)g(x) = o(x^{m+n})$$

$$3. f(x) = o(x^m) \quad \Rightarrow \quad x^m f(x) = o(x^{m+n})$$
$$\frac{f(x)}{x^m} = o(x^{m-n})$$

$$4. \begin{array}{l} f(x) = o(x^m) \\ g(x) \sim x^m, m > 0 \end{array} \quad \Rightarrow \quad f(g(x)) = o(x^{mm})$$

speciálně: $f(x) = o(x^m)$

$$g(x) = x^m + o(x^m)$$

$$\Rightarrow f(g(x)) = o(x^{mm})$$

Taylor

$$\underline{\text{el. fce:}} \quad e^x = 1 + x + \frac{x^2}{2!} + \dots + \frac{x^m}{m!} + o(x^m)$$

$$\sin x = x - \frac{x^3}{3!} + \frac{x^5}{5!} + \dots + (-1)^m \frac{x^{2m+1}}{(2m+1)!} + o(x^{2m+2})$$

$$\cos x = 1 - \frac{x^2}{2!} + \frac{x^4}{4!} + \dots + (-1)^m \frac{x^{2m}}{(2m)!} + o(x^{2m+1})$$

$$\ln(1+x) = x - \frac{x^2}{2} + \frac{x^3}{3} + \dots + (-1)^{m+1} \frac{x^m}{m} + o(x^m)$$

$$(1+x)^a = 1 + ax + \frac{a \cdot (a-1)}{2} x^2 + \dots + \binom{a}{k} x^k + o(x^k)$$

$f(x) = o(x^m)$

 für $x \rightarrow 0$: $\lim_{x \rightarrow 0} \frac{f(x)}{x^m} = 0$.

(Bj: $|f(x)|$ je kleiner mens' nix x^m
für $x \rightarrow 0$).

$$\binom{a}{k} = \frac{a \cdot (a-1) \cdot \dots \cdot (a-k+1)}{k!}$$

$$T_{x_0, m} f := \sum_{k=0}^m \frac{f^{(k)}(x_0)}{k!} (x-x_0)^k$$

(siehe $x_0 = 0$)

Pr.: $\lim_{x \rightarrow 0} \frac{\ln(1+xe^x) \cdot \sin(2x^2)}{x^3} \stackrel{!}{=} 2$

$$\begin{aligned} \sin(2x^2) &= (2x^2) - \frac{1}{6}(2x^2)^3 + o((2x^2)^4) \\ &= o(x^8) \\ &= 2x^2 - \frac{4}{3}x^6 + o(x^8) \end{aligned}$$

$$\ln(1+y) = y - \frac{y^2}{2} + \frac{y^3}{3} + \dots$$

$$\ln(1+xe^x) = xe^x - \frac{1}{2}x^2e^{2x} + o(xe^{x^2})$$

$$xe^x = x \left(1 + x + \frac{x^2}{2} + o(x^2) \right) = x + x^2 + \frac{x^3}{2} + o(x^3)$$

$$\frac{(xe^x)^3}{3!} = \frac{x^3}{6} + o(x^3)$$

$$x^2e^{2x} = x^2(1 + 2x + o(x^2))$$

$$= x^2 + 2x^3 + o(x^3) + \frac{2}{6}x^3 + o(x^3)$$

~~11~~

$$\ln(1+xe^x) = x + x^2 + \frac{x^3}{2} - \frac{x^2}{2} - x^3 + o(x^3)$$

$$= x + \frac{1}{2}x^2 + \frac{1}{6}x^3 + o(x^3)$$

total: $\ln(1+xe^x) \cdot \sin(2x^2)$

$$= \left(x + \frac{1}{2}x^2 + o(x^2) \right) \cdot \left(2x^2 - \frac{4}{3}x^6 + o(x^6) \right)$$

$$= 2x^3 + x^4 + o(x^4)$$

Pf.: $\left(\frac{\sin x}{x}\right)^{\frac{1}{x^2}}; \rightarrow \exp\left(-\frac{1}{6}\right); x \rightarrow 0$

$$\frac{1}{x^2} \ln\left(\frac{\sin x}{x}\right)$$

$$\frac{\sin x}{x} = 1 - \frac{x^2}{6} + \frac{x^4}{120} + o(x^4)$$

(motimece!!)

$$\ln(1+y) = y - \frac{1}{2}y^2 + \frac{1}{3}y^3 + o(y^3)$$

$$\ln\left(\frac{\sin x}{x}\right) = \ln\left(\frac{\sin x}{x}\right)$$

$$y = -\frac{x^2}{6} + \frac{x^4}{120} + o(x^4)$$

$$-\frac{x^2}{6} + \frac{x^4}{120} + o(x^4) - \frac{1}{2} \left(-\frac{x^2}{6} + \frac{x^4}{120} + o(x^4) \right)^2$$

to x^4 :

$$\frac{1}{36}x^4 + (2)\left(-\frac{1}{6}\right)\left(\frac{1}{120}\right)x^6$$

$$+ \frac{1}{(120)^2}x^8 + \dots$$

$$= \frac{1}{36}x^4 + o(x^4)$$

$$= -\frac{1}{6}x^2 + \left(\frac{1}{120} - \frac{1}{72}\right)x^4 + o(x^4)$$

$$= -\frac{1}{6}x^2 - \frac{1}{180}x^4 + o(x^4)$$

$$\frac{1}{x^2} \ln\left(\frac{\sin x}{x}\right) = -\frac{1}{6} - \frac{x^2}{180} + o(x^2) \rightarrow -\frac{1}{6}$$

Pte:

$$\frac{1}{\cos x + \sin x} = ; \quad x_0 = 0.$$

$$\cos x + \sin x = 1 + x - \frac{1}{2}x^2 - \frac{1}{6}x^3 + o(x^3)$$

$$\frac{1}{\cos x + \sin x} = f(x) = A + Bx + Cx^2 + o(x^2)$$

$$1 = \left(1 + x - \frac{1}{2}x^2 + \frac{1}{6}x^3 + o(x^3)\right) \cdot (A + Bx + Cx^2 + o(x^2))$$

$$x^0: 1 = A$$

$$x^1: 0 = B + A : B = -1$$

$$x^2: 0 = C + B - \frac{1}{2}A : C = -B + \frac{1}{2}A \\ = 3/2$$

$$\frac{1}{\cos x + \sin x} = 1 - x + \frac{3}{2}x^2 + o(x^2).$$

$$(1) \frac{\cosh x - \sqrt{\cos x}}{x^2}; \quad x \rightarrow 0.$$

$$\cosh x = 1 + \frac{x^2}{2} + o(x^2)$$

$$\cos x = 1 - \frac{1}{2}x^2 + o(x^2)$$

$$\sqrt{1+y} = 1 + \frac{1}{2}y + o(y)$$

$$\sqrt{\cos x} = \left(1 + \left(-\frac{1}{2}x^2 + o(x^2)\right)\right)^{\frac{1}{2}}$$

$$= 1 + \frac{1}{2}\left(-\frac{1}{2}x^2 + o(x^2)\right) + o\left(-\frac{1}{2}x^2 + o(x^2)\right)$$

$$= 1 - \frac{1}{4}x^2 + o(x^2).$$

$$\text{numel: } 1 + \frac{x^2}{2} + o(x^2) - \left(1 - \frac{1}{4}x^2 + o(x^2)\right)$$

$$= \left(\frac{1}{2} + \frac{1}{4}\right)x^2 + o(x^2).$$

$$f(x) = \frac{3/4 x^2 + o(x^2)}{x^2} = \frac{3}{4} + o(1) \rightarrow \frac{3}{4}.$$

$$(2.) \quad \text{Ag}x = ? \quad (m=5)$$

$$\text{Lidre fce: } \text{Ag}x = Ax + Bx^3 + Cx^5 + o(x^5)$$

$$\sin x = \text{Ag}x \cdot \cos x$$

$$x - \frac{x^3}{6} + \frac{x^5}{120} + o(x^5) = \left(1 - \frac{x^2}{2} + \frac{x^4}{24} + o(x^5)\right) \cdot$$

$$\left(Ax + Bx^3 + Cx^5 + o(x^5)\right)$$

resoliti:

$$x^1: 1 = 1 \cdot A : A = 1$$

$$x^3: -\frac{1}{6} = B - \frac{A}{2} ; B = \frac{1}{2} - \frac{1}{6} = \frac{1}{3}$$

$$x^5: \frac{1}{120} = C - \frac{1}{2}B + \frac{1}{24}A$$

$$C = \frac{1}{120} + \frac{1}{6} - \frac{1}{24} = \frac{1+20+5}{120} = \frac{26}{120} = \frac{13}{60}$$

$$\text{risposta: } \text{Ag}x = x + \frac{1}{3}x^3 + \frac{13}{60}x^5 + o(x^6)$$

$$\frac{\text{Ag}x - x}{x - \sin x} = \frac{x + \frac{1}{3}x^3 + o(x^3) - x}{x - \left(x - \frac{x^3}{6} + o(x^3)\right)} = \frac{\frac{1}{3}x^3 + o(x^3)}{\frac{1}{6}x^3 + o(x^3)}$$

$$= \frac{\frac{1}{3} + o(1)}{\frac{1}{6} + o(1)} \rightarrow \frac{6}{3} = 2$$

$$(3.) e^{\sin x} = ? \quad (n=3)$$

$$\sin x = x - \frac{x^3}{6} + \frac{x^5}{120} + o(x^5)$$

$$e^{\sin x} = 1 + \sin x + \frac{1}{2} \sin^2 x + \frac{1}{6} \sin^3 x + o(\sin^3 x)$$

$$\sin x = x - \frac{x^3}{6} + o(x^3)$$

$$\sin^2 x = \left(x - \frac{x^3}{6} + o(x^3)\right) \cdot \left(x - \frac{x^3}{6} + o(x^3)\right)$$

$$= x^2 + 2x\left(-\frac{x^3}{6}\right) + o(x^4)$$

$$= x^2 - \frac{1}{3}x^4 + o(x^4) = x^2 + o(x^2)$$

$$\sin^3 x = x^3 + o(x^3)$$

$$e^{\sin x} = 1 + x + \frac{x^2}{2} + \underbrace{\left(-\frac{1}{6} + \frac{1}{6}\right)}_0 x^3 + o(x^3)$$

$$= 1 + x + \frac{1}{2}x^2 + o(x^3)$$

$$4. \lim_{x \rightarrow 0} \left(\frac{(1+x) \ln(1+x)}{x^2} - \frac{1}{x} \right)$$

$$f(x) = \frac{1}{x^2} \cdot ((1+x) \ln(1+x) - x)$$

$$\ln(1+x) = x - \frac{x^2}{2} + o(x^2)$$

$$(1+x) \ln(1+x) = (1+x) \left(x - \frac{x^2}{2} + o(x^2) \right)$$

$$= x - \frac{x^2}{2} + x^2 + o(x^2)$$

$$= x + \frac{1}{2}x^2 + o(x^2)$$

$$f(x) = \frac{\frac{1}{2}x^2 + o(x^2)}{x^2} = \frac{1}{2} + o(1) \rightarrow \frac{1}{2}$$

$$(5) \lim_{x \rightarrow 0} \frac{\cos(xe^x) - \cos(xe^{-x})}{x^3} = -2$$

$$(6) \lim_{x \rightarrow 0} \frac{(\cosh x^2 - 1) \ln(\cos x)}{x^6} = -\frac{1}{4}$$

$$\cos x = 1 - \frac{x^2}{2} + o(x^3)$$

$$xe^x = x \left(1 + x + \frac{x^2}{2} + o(x^2) \right) = x + x^2 + \frac{x^3}{2} + o(x^3)$$

$$xe^{-x} = x \left(1 - x + \frac{x^2}{2} + o(x^2) \right) = x - x^2 + \frac{x^3}{2} + o(x^3).$$

$$\cos(xe^x) = 1 - \frac{1}{2} \left(x + x^2 + \frac{x^3}{2} + o(x^3) \right)^2 + o(\dots)$$

$$+ o\left((x + o(x))^3 \right)$$

$$= 1 - \frac{1}{2} \left(x^2 + 2x^3 + o(x^3) \right) + o(x^3)$$

$$= 1 - \frac{1}{2}x^2 - x^3 + o(x^3).$$

analogically: $\cos(xe^{-x}) = 1 - \frac{1}{2}x^2 + x^3 + o(x^3)$

$$(5) f(x) = \frac{1}{x^3} \left(-2x^3 + o(x^3) \right)$$

$$= -2 + o(1) \rightarrow -2, x \rightarrow 0.$$

$$\textcircled{6} \quad \cosh x = 1 + \frac{x^2}{2} + \frac{x^4}{4!} + \dots + \frac{x^{2n}}{2n!} + o(x^{2n})$$

$$\sinh x = x + \frac{x^3}{3!} + \frac{x^5}{5!} + \dots + \frac{x^{2m+1}}{(2m+1)!} + o(x^{2m+1})$$

$$\cosh x^2 - 1 = \frac{x^4}{2} + \frac{x^8}{24} + o(x^8)$$

$$\cos x = 1 - \frac{x^2}{2} + o(x^2)$$

$$\ln \cos x = \ln \left(1 - \underbrace{\frac{x^2}{2} + o(x^2)}_y \right)$$

$$= y + o(y) = -\frac{x^2}{2} + o(x^2) + o\left(-\frac{x^2}{2} + o(x^2)\right)$$

$$= -\frac{x^2}{2} + o(x^2).$$

$$\text{total: } \left(\frac{x^4}{2} + \frac{x^8}{24} + o(x^8) \right) \left(-\frac{x^2}{2} + o(x^2) \right)$$

$$= -\frac{1}{4}x^6 + \frac{1}{2}x^4 o(x^2) - \frac{1}{48}x^{10} + \frac{1}{24}x^8 o(x^2) + \dots$$

$$o(x^6)$$

$$\lim_{x \rightarrow 0} \frac{(\cosh x^2 - 1) \ln \cos x}{x^6} = \lim_{x \rightarrow 0} \frac{-\frac{1}{4}x^6 + o(x^6)}{x^6}$$

$$= -\frac{1}{4}$$